YERR 10 — USING NUMBER. ..
e Non-calculator methods

| What do | need to be abk to do?

l By the end of this unit you should be able to:
I, Use mental/written methods for the four

Truncate: to shorten, to shorten a number (o rounding), to shorten a shape. (remove. a part of the shape)
Round: making a number simpler, but keeping its place value. close the what it originaly was
Credit: money that goes into a bank account
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» Use four operations for fractions I

o Write exact answers |
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I Profit: the amount of money after income - costs
| * Round to decimal places and signfficant

I

I

I

|

Tax: money that the government colects based on income, saks and other activities
Balance: The amount of money in a bank account

Overestimate: Rounding up — gives a solution higher than the actual vale
Underestimate: Rounding down — gives a solution lower than the actual valve

figures
o Estimate soltions
* Understand Imits of accuracy
o Understand financial maths

037 to | signficant figure is 04 I| you dentify calevlation errors
000000037 to I signficant figure is 00000004 I|

b4< w <65 | Ony vabe within these Imits would I
trncate to 64 to Idp
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| Oddition/ Subtraction Subtraction the order has to sty the same Formal written methods OI
| - Qddition is commutative T+ To |
z 360 - 147 = 360 - 100 — 40 — 7 H T O
| =] —Q—do% o o o oo I0E 4]z :
| - e + 0 @+ OO® . Nyber lnes he for addtion and P P ~l2lalo
[ 1 J L o [ J J
| Modeling methods for addtion/ subtraction Subtraction I
le  Bar modeks 6+ 3 -3+ 0 * Working in 10's first aids mental I
le  Number lnes addtion/ subtraction Remember the place valve of edch comn |
I+ Port/ Whole diagrams The order of addtion does not « Show your relationships by wirting You may need to move 10 ones to the ones |
| change. the result fact familes column to be able to subtract |
I I
| Decimals have the same methods remember to align the place vabe |
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: DIVISIOH methOdS Short dwision 51 2 Complex duvision || M)It[pli(‘,auon methodg - Mutiplcation with decimals o :
M e o ~h-=p=4 T Te I Perform muttipications ds integers
3084 = 7 -5l 7 3°5 84 <1 Lot >
: . 5 h deci 5;1 Break up the duisor using I L el Rl el eg 02x 03 Ax3 :
ivision with decimai factors [ [ ]o] : ‘
0K Make adiustments to your answer to |
: The placeholder in duision methods s essential — the decimal nes up on the diidend and the quotient I : Long Grid method R match the question 02 x 10 = 2 I
| . Y . I (colmn) Repeated Therefore 6 = 100 = 006 I
ddtion
I Ol ge the same solution as represent the same proportion | | 5 I
| Muttiply the values in proportion until the dwisor becomes an integer o | | Less(effect\ve rethod especily |
L ___.__ L _ lvermiendo _____ _ ______ |
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| Four operations with fractions Mlication s 5 g g b (R ) :
[ Oddition and Subtraction 3 2 5% arech
procal
: m %H 2 X 3 3 . ) gves the _ 8 :
- Same. 15
5 3 2 -2 6 _1 — 5 X3 I
: 15 15 1 ===3 i 53 outcome |
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: Exact Vabes Leate g5 6 | Estimation €@ L) [ Limits of gecuracy I
Leave in tenms of ~ 120 1 I| Round to ['signficant figure to estimate | O width w has been rounded to 64cm correct to ldp I
- -=x36m . [N\ Tan30-—= | I |
|/ oo 360 V3em e V3 I| A4 x3.1=20x3 =~ 60 |I 2 A |
R | _ ; """ -— LA 3
L\ pr_,: = 5 X 36m =121 Tem I: \ : I < ‘6351}“‘[@ vgk;es Error interval T > 6451 vales woul |
——————————————————— 1 The equal sign changes to 1| o roord o rond 1o 65 |
l__._______________‘__jl show it is an estimation || The exror intesval |
Roundi | | 635< w <645
| Randng © 24610 | . l !
| 246192 to L;ldp) ks this closer to 246 or 247 ! y\ I| [g‘g]‘g “b” underestimate because] | I Ony valve within these imits would round to 64 to ldp |
[y ' vales were. rounded down
: <, 2.47 This shows the rumber s closer kp : | I
246 |I | | Oiwidth w s been truncated to 64em correct to Idp I
: iimﬁm‘ntﬁf”‘if 200 :l tt is good to check |: n kot e e en e e [ e e b e e e :
O ISigniticant tigure 1 : : < ' »
| 3710 Isignfeant figure s 40 SF: Round to the first | cacutiors vith on estmate n I} < 6atiombes ot treateto 63 Emorintervd s 6. woud |
|| dll aspects of matrs — t hels | = 65 wies
| 37to Isignficant figure s 4 nonzero number I Spects 0 S —Lieps ) I trorcate to 65 |
| ly
| I



